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> 7 RAM(0,3,%,5¢,3¢,500)

> S AT (30.%¢,90.3¢,500.20)
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B 3-Token 3l *miog Qe o 2oz 2fes a1 5% 11 (@I @i Fohete GOos W
ifée | s fef EBBmT et Word @32 Character
TN | N2 eze 9@ Word < Character 8 Symbol s2i& @@ Gt 0T |

I N .

Jt-e7e (Keyword)
wrgcefoERE (Identifier)

25 (String)
Ar%p5a (Punctuator)

=i et (Special symbol)
IR0, NANTC Q2 Q7T

TR (IS o &5 9% 27 |

TSR, T GO, P, 2951 TR
Gej <929 X |

AT GFSHE FNEER [T IS FAF S
BISEIUETN
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>, CORTIRCTH FICI T (FICT AT ST AT T (IRIF T 6T (TN -
Rectangle area,First number,Summation value 2wsiw |

3. TORICRRET I (I e 2% 5+Fe 912 36 Alphabetic
letter(upper case or lower case) <2< Underscore( ) 2T | (T9-
Number,Length,Width,-Length ¢7<r @ica fglnumber,@numl,%def
T AT 1 [ (efReaRer were Underscore 52 1 A, E 212
FACOTH R (O 1% 77 lower case letter e w=e w1 |

9. AT IEET 29 @-tier Letter,underscore,number 52 41
Tt @9-Numberl,Rectangle Area,Area_ OF The Rectangle.



8. Underscore( ) TSRGEREET 2ol 9y (it [{eg o2
(L @,#,%,%,”,&,,*,<.>,2,{},[]) TI=EF AR AT | (@N-
H# R#,email@,Age! Zwjiw 52« <1 [0 1 |

.13 36 Case sensitive letter | 12 «te letter,Uppercase letter
@3 Lowercase letter fog fog o1 Twra= | w1e Area,area,ARea
Soyimes fog fog cofrae iR fraae <1 Ta @ Area, Area (¢ gio
e (SRtERe Rt ferga w4 T =1 |

Y, AR (SRETET W RPN @7 FI- ST JYZ (F I 40 T 1 |
(-
If,else,elif,for,while,break,continue,except,as,in,true,none,def,del,c
lass 2@y |

q. TSR T RO WEids T 7927 7912 Iheye (w=<< FIv 272"
IR QT | NN ATOCHCET CHGTa (77 FHF &)
Length,Width,Rectangle Area 5527 F412 @&i71; A,B,R 7% |



TORIARE 8 (SHAEIET Wi+ fyfae:

numberl=10
Name="“Rahim”

(ORI S @l 3 213 vl {Hrd(=) NHITT (P FEAF T (SRR RO CoiF 41
I, ATHCE AW I (I TCFEHTT A (2 PTe! DZd I A (SREIET FIN G ©lF AT

TR SRR W =T ¢ | ol
>>>num =10
>>> print(num)
10
>>> print(hum*2)
20
>>> print(num+5)
15

CSRITTRAER T T« ¢ AR (FICAT (SREAICET N4 GF LA Tl N9 SJie] (1T T T |

aﬂ—a@@mc—ﬁmwwmmﬁaﬁﬁw aﬂ?@iﬁwﬁwmiﬂm’%‘w (SRR T (SRERER

I ST 0T | - >>> x =110
>>> X

110
>>>x="karim”
>>> X

karim
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O3 [WE T CORF 91 T | AR GFIEF (SRR & I T8 OF AN (o1 F40
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> RN
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RAT(Number) ¢ Number R @- (ST FICIF AT |

ABATT 08 KA HAT AT 7 |

> IntNumber (T 7 e7T)

> Long (3@ It 37231, =3 1T, e T RACTHE SAF08 B 41 07 |
> Float (wifs< f&f*8 31e)

> Complex (&fbeT 22)

complex

51924361L
100 |-0x19323L 15.20 45
§ 0122L ' 9.3
|OXDEFABCECBDAECBFBAE|  |32.3+e18
§35633620843L -90.
-0x280 |-052318172735L 3254100 |3e+264
0x69 | -4721885298520L 70.2-E12  4.53e-7]
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- (‘abc’)



o T g o0 T TR JCR0([ ]) @ = @ 37 ()
AT W ST 20T N T4 GF (G 6T @
o ArACO 512, O o710 JjRIF 0o Al |
T -

e List=[ ‘karim’,782,4.5,'rahim’,60.2]




o BT g GIolel o9 o0 ETS OPE T, BY fifT T
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List= ( ‘karim’,782,4.5,'rahim’60.2)



Ty ¢ T (& FI- S (SO (ST AF 1T
(ST TIGT B F 2o A7, IMe A<= T T Fg T H
RO (@THCCT 7Y | A\MCE @ (BT A/ TACS32 Sfle]
RETT @FC 0o A ITF*keE e { )} @7 AR
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©.8 TGl DI FTe

O DI (SRETREACE A BI2e (SREAE Fe0 3419 AfTHAE TIoT TR FHSH ] GTF 5137l FF6R
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e

int (x[,base]) e X & o7 ey S99 & @ TG %o =7 |

long(x[,base]) G X & @3 A PR ARkaes F47 o5 @ F Iz =7 |

float(x) CORTIRT X (F WS [RF2 TR AT I G @ FIRHADG IS
7|

chr(x) 3fBE G127 BiGItE FIRIBE BIZl THR FAWS FAF G 4 FIL
RISEIETN

hex(x) ol IRATR TS RACTHI T AT FA & 4 FAAD 20
7|

str(X) TSI X (& String @ oIS FF & G TG GI2© 2 |

tuple(x) X TP tuple ST T & @ FIRHAFG IS 2 |

list(x) X TF list ST 19 & @ FIRHAND GFI© 2F |

set() X TP Set oIS T &) | T T2 2 |

dict(d) eIl Coftl TR &y @ FIHE0 7 2T |



SOEIT MATT TS 3 TG AT FID (AT T @ IO A &y () TG IR A0 =7 |
TAIRA 8

# string to integer conversion

>>> int (“4567)

456

# float to integer conversion

>>> int (12.3)

12

T AT TSR ¢ TG SR/ ST (AF @Fio @ FTSI6 F9 & () TIHT (IR 341 2T |
TR 3

# string to float conversion

>>> float ("123.456")

123.456

# integer to float conversion

>>> float(123)

123.0

52 @ FTSP 3 (P (SR (& PG @ TS0 I Gy () T JIZE F41 27 |
TAREC ¢

>>> str(1123)

‘1123’
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(Python Operator)

ofs=t (Introduction)
TN FATeTITe BT [Nt s Face & ey ey [y weitata
TR LTS 2F | FAE59 BG! ©5T e e S <89 | teiiaifire
TS Tifdfes 8 [@ifes Fie g T &y Fouta [T
FEER (@: +, -, *, [, >, >=, <, <= M) GIZ© BT | QSR
A0S | 212U < |<1|m SBIOE WWW G2 Lress oy
RO 3 70 6T ACF | T FLIIT AT AR j37© oy
WW@WWWWWWWW|




o112 R i1 M=AbA AReM(Python
Operators & their Types) :

SAICBd (Operators) ;| SAAsd 2 I ge [Keed e o (symbol) ==
(word) I FIZFARCE (@Iear Ko aiifafess, peeiEe i @ifes S = Imes o awi
I | @- at+h, a<b @ ‘+ ;R ‘<’ Torft T&T IR |
Foie(Operand): S5 @R TIbT,TSRIRe 1 GHEHE i Fer 6 Sl
AR 0T | @N9- a+b, a<b @ ‘@’ 93 ‘b’ Twxv zeT SeAEe |
ARG ER @RfRer(Operator types) : AT «F @6 ==l SACET =R | AZA
ARG &feTts OITrd &PFlS ¢ T T @B SIeet ST Tl FCACR | FT:

» anfafes Sees(Arithmetic Operator)

> e weAeRGa(Comparison Operator)

» Tifes 9#iita54 (Logical Operator)

» SRS WACAs (Assignment Operator)

» e SI41ta69 (Boolean Operator)
» e secase (Membership Operator)
3 wﬂw"’? (Identity Operator)
T3 meRitwise Operator)




QIIRICEACE RN G R M‘?ﬂ@%ﬁ(Arithmetic,Comparison &
Logical Operators):

ST SAZBF(Arithmetic Operator): &Sy «awra Nffes w1y Fa9 & @ 75

FNE0F WRF T W SIHACE NISF AATH0F 6 | AR AT KR N eF AAH07 59%© 7 |

Python Arithmetic Operators

AT At SRR
+ (@) SATCAGCRR RRAATCHT S ST QI FA &5 | a+b=30
- (Rt SETRGCRR A AT F (A ©F AR M [R@t s a-b=-10
Y |
* (@) SATCAGCIR GRATCR NI TN @ A | a*b=200
/ (o) SAIHBCRT YA M ©IF AT A e o I | b/a=2
% Modulus(Sita) S0 b%a=0

k% Exponent(ememe) I ATCHR DA 2eT (37 S Gl A0 SA2AH5F 2T

a**h=102
AMEAF | (@ 8 AMNSTF (F AT I AT W N7 67 |

// Floor Division(sf ~ SIItaGCa= I #{10A= I (TP ©FF AT W e et sea 9//=4 @32 9.0//2.0
MR O ) ST VT I QIR AGFTS WHNCHR 2Itad 72y ol 3
R

e -




A shfifes S=iitabe sTaees 1 9T I 4
>>>342

5

>>>10-4

6

>>>0*7
42
>>>48/3
16.00
>>>10%3
1
>>>3*%*)
9
>>>5+(9*3)
32
>>>-13+5
-8
>>>1.0/2.0
0.5
>>>1.0//2.00




g weAitasa(Comparison Operator): 92 I Srelfas S_eacs My
D T T weers wAieatd (Comparison Operator)d <R 40 27 |
Qe feeTieeT wioncEoas (Relational Operator)<e =% |

caric(Comparison Operator)d I=F <1 =0T ©f (AT e © T [BI
ATSTT T |

TANT-ACTN ARG R TeNee] J(F ©True 2N« W' Z0eT Faoee (3
‘False’ | Comparison Operator @3 ¢F(q S TR0 -3 7Y Koy

4R A TR WY werw! Bl A g o 4 e S_eects Wed el 1l I
RIN




Python Comparison Operators

SATIOT Ifqr IETE
= = (Z3) I 92 AR NI G20 I 2 S *160] Afey 27 | (a==b)
I= (3G ) T RRACHR SA1a® 936 AT 71 =7 O *1$! Afey 27 | (a!'=b)
> (GBI W TN AT HATCICDA (B I AR IAES e 27 o | (a>b)
*[S5T Ay T |
>= (R W 9 | I TF AT AATICST (5T IV AT F9AEe =6 W o@ | (a >=Db)
BFT) =SBT Aoy = |
< (T wyIe) JW TN 20 FACACTT (B I AE FoEe e 7o | (a <b)
2T O(F ¥ NSy 77 |
M T AT FACICST GG N ACHF W2ATCaS =5 A 79w | (@ <=Db)




fatemier @@= (Relation Expression): @ G3ce=its e =64
AP OIS [T Qe 0T | KT Q{7977 0 %==r 1
EXN

G Frey/frat A
(X<y) True 1
(X>y) False 0
(X+y)>=5) True 1
IX False 0
1

True




AT RETIT HACET I RIS FAEET AT IR AR =T
>>> x=10
>>>y=15
>>>X>Y
False
>>>X<=y
True

>>> X= =y
False
>>>x1=y
True
>>>X+1>Y
True

>>> x>y

False
>>>




wifes w1+i1cao9 (Logical Operator) 3 (&P #4109 @ifes S 7y
I G T IR A W wiRE @ifew 954 i(Logical Operator) e |
1227 (e @ @m@eE Logical Conjunction € I | #f&S 1o SoA1ta54
AIGRTS: 72 I SCOIfEF G 167 GIHLHNCF NS A R 7o A1 T @-

THIT OH0 FEATTeT QUi I |
Python Logical Operators
HAHBR Tt SEEE]
and Tt 736 weitere? 1esR 27, theT O’ *$o1 Afey 27 | (a and b)
(S0T)
Or (@) | 23 weiitaces @I afs ey 20e18 *Ieo7 Afey 27 | (@orb)
not (FB) | Wt JAT,37TSF AL Sel not e of farer (a not

T A AR LT AT el not Wee ©of 7oy 2
qIY |

b)




ierpsier Ste weica=iw(Logical and Operator):

30 e g
A B Result(A and B)
0 0 0
0 1 0
1 0 0
1 1 1
wfererter o wAE=(Logical or Operator):
ETu S5 7{5
A B Result(A or B)
0 0 0
0 1 1
1 0 1
. .




wferetet w6 wefita=i(Logical Not Operation) ¢

ESk SICGE
A Result(not A)
0 1
0

eyt Q@A (Logical Expression): T QIte™ts sifermiel S5 A
SIF ASGHIE QIC*IT 6T | SSRIIeT AHCL*T N AT 0 AT 1 =27 |

QITAT o3/t T
(x>y) or (X<y) True 1
(x>y) and (X<y) False 0

((x>z) or (x+y)>=5) True 1
0

False




+ TN wIfEprIeT SAR5 R IR (AT e
>>>72==2and 3==
True

>>>2 ==2and 3==
False
>>>2==20r3==
True
>>>72==5hor3==
False

>>> 2 ==

False

>>>not2 ==

True

>>>x=5

>>>y=6

>>>7=4

>>>(x>y)and (x<y)
False

>>>(x>Y) or (x<y)

True

>>>((x>Yy) or (x<y))>=5
False




GARFCTG, RGeS,

(Assignment Bitwise,Memb
Operators) :

shlp,Identlty oolean

SPTIRACs SCEe(Assignment Operaters): (It Qe i
(CRERER TE AT (FIAT (FF (CRERCET T ReT H_e
A G (T LR FACEG(=) IR 1 2T ©IP SRS
FACAGF 0T W X GFI0 (ORI = A oF T 10 Nd=er a9
LTS L O Ol &) HFIEFCN0 FACI0T I 1A |

(&IOS

X=10
Ty (¥, X=10 @32 Xx==10 =% | FI9, X=10 =T SHFPNECAD
QI T X==10 T&T HCeT=IqeT QHL |




Python Assignment Operator

Ao 3T ICLETL
= T AT FATSCE AN AT FATCACE IR BT | c=atb Wt ath c
+ =Add AND TR AR SIS (T FCT VT A A HATCACS C+=a v c=c+a

S A |

-=Subtract AND

TN TS (ATF T AT FANES [ I
RACTFT AT 20T FACACE AR A |

C-=a It C=C-a

*=Multiply AND | %3 100 SITa08s GFIBICE 6T fee eo S0 @ewe I c*=a ¥ c=Cc*a
AT AT B B |

/= Divide AND I AR FACACCE I~ AR 7= O F@ oPieel | ¢/ =a W €=C/a
I AT AT TR T |

%=Modulus AND | JI% “AIT*a SACASCS Tl 203 AT @1 O 963 Ot | ¢%=a WtT c=c%a
T 2T FATCACE IR I |

**=Exponent Vg AR SITACER AR N o S @ N I {70 C**=a W c=cC

AND TS AR I |

Cc//=a ¥ c=c//a




NS & TR HAIOR RS I IR T 21
>>>g=5
>>>a
5
>>>g+2
>>>a
.
>>>g-=3
>>>a
4
>>>q*=3
>>>a
12
>>>a/=2
>>>q
6.0
>>>0=2
>>>c** =g
>>>C
64.0
>>>c/[=a
>>>C

10.0
>>>




fRBexie w=iits57 (Bitwise Operator) ¢ I21ET ©ioT 914 {6 31 1126 M [fog awea e @
SATCIH Tl FAE G (K WACA6 9 Q9 41 ¥ o [oeaize (Bitwise Operator)ee |

AR (B Y 4RCF [0 STIRS FAH0F IR |
Python Bitwise Operator
A5 et TR
& (Rosaize o3 IbT [ROTF @ T &y [RO'e2q e <19 | a&b=0000
JO) AR | 1100
| (RoemRe=®) |9 ROt @ F919 &=y [OeEe ST AR 41 alb=0011 1101
EXN
A (RBeEs T FAICAC TN UFE T IR 6655 26 0 a“b=0011 0001
I ) e 1 |
~ (Rbsaidw G0 TG TATIS [ Fe I | A0S N 0 == | ~a=1100 0011
CCI) SICEHG 1, SANICST N 2CeT «e625 1 |
<< (10 M1%0) | ©ioT [RETF W MiF Meh 919 & =0 *1F0 a<<?
S0 (AR BT |
130 *10) | it 950 ©iq i et wa1q &=y 9130 %0 a>>2

SRSEERSRER IR




oAz o @ wHica==(Bitwise Operation):

P SIE5E
A B Result(A&B)
0 0 0
0 1 0
1 0 0
1 1 1

Tz ¢ I A=1,B=2 =1 (A&B) =?

A=l E=—> 00000001
B=2 EE==———> 00000010

A&B EC——— 0000 0000 [ 1&0, 0&1=0]




foeids =@ e (Bitwise or Operation)s

P Rl g
A B Result(A[B)
0 0 0
0 1 1
1 0 1
1 1 1

TR ¢ 3 A=1, B=2 = (A|B) =2
0000 0001

0000 0010 |
A/B 0000 0011

[ 18&0=0, 0&1=0]




fRoeiRe & 191 o« weAc=(Bitwise Xor Operation)s

P SIE50
A B Result(A"B)
0 0 0
0 1 1
1 0 1
1 1 0

TR ¢ I A=1, B=2 T (A"B)=?
0000 0001
0000 0010

8,0=0, 0&1=0]




RosAIRe (oo St (Bitwise Negation)s

Loy IG5
A Result
(~A)
0 1
| 1 0

T 9 9FIfeS G

WM@MT\W |nc¢ﬁP«Fﬁ‘W®| 9 W%WWE@WWWN|W%
A5 ©I5T RGTE AN Mte Wz 125 et St [oeF Tl W et eq |

s PAes wetica=w(Left Shift Operation)s

TARAA-Y ¢ ;M A=2 7@, A<<2=7?

A:2 E}) 0000 00/1;

§> 0000 1000

PRI 5 T A @ Wi =7 (A<<2=8)



Tarzae-y ¢ I A=2 =0e1, A<<5=?

A=2 ——) 0000 0010
A<<b ———> 0100/0000

QTS A AT 3 © o b [/E @70 #1%6 F90a1 A @F 9 =&
(A<<5=64)

%G %6 W= (Right Shift Operation) s
THIRFe-» ¢ T A=4 20, A<<2="?

S s— 0000 01<)
N I — 0000 0001

A 34 © TEF 72 [0 (10 0 I A @9 N9 1




TRRFe-d 8 I A=64 7T, A<<5=?

A=64 |:>> 0100 0000
A<<5  [—————» 00000010

QT A @3 BT © 7 eF A KRG @16 w0 FaceT A @7 9 21
(A<<5=2)

TR w=Aitg67 (Membership Operator) 3 (=R Ao A8

o TRQTICE T q2© [0 K0T ATCA0T (PIAT AF (0 (ORI Q6 <Koy

o1+ Do fooedt T2 w3 e oo of i@ o (@ S1<6eT S911ta59 9 319 341
o OIAACE (VR AACE59 0T | W (@I @0 T wET @ W e
ﬂﬁﬂ@@@ﬂﬁﬁﬂfmﬂ@“ﬂue” RISKIGAS CE RS CRE ARSI
“False | 22T B2 CFCF CTRAR AACI5F 9 == | =48 in @3z not in




Python Membership Operator

AN At TR
IV T AT A Tl g 1st1 =['Mahi’, "Mahedi*, “Tonny",
AT foeg {C@V S\GT T, ©FZ ‘Munr_mi‘, “Sumaiya’, Tahsin’,
In T 1S3 ey = | "Suhaima’]
) if"Mahi in 1st1:print( Name Mabhi
exists in 1st’)
TW AT AT AT O T 2N 1st 1 = ['Mahi’, "Mahedi", “Tonny",
@] foeg %[C@T ST T A, @3 ‘Munr_1i‘, “Sumaiya’, Tahsin’,
Not in T TS5 ey = | "Suhaima’]
) if"Mahi™ not in 1st1:print( Name Mabhi
does not exists in 1st’)
TR Sefitaboa Ry Srieae fageeet s
>>> a="bangladesh’
>>> h="desh’
>>>Dbina
True
>>>ainb
False

anotinb




wiRee Bt weiEsa(1dentity Operator) 3 936 S_s+ G G
Ay g FEIF G oL 3 (SR uFE (IR @I A ot
it o (@R AR 9 IRIT T 2 ORGP 2066 NATCIOR A0 |
13T NG 73fG SN2 celBH w41tab7 3 "9%e 27 | T 3 is W iS NOt SAANCHLT |

Python Identity Operator
ARG Ay TAIRIY
is I 92 A MRS 30 a2 a="bangladesh’
w_cers dl fefeees o <, teae b="desh’
©C43 *[S0] Aoy 7T | if ais b:printCaisb)
else:print(ais notb’)
isnot | I G 2N AT 12T @2 a="bangladesh
wQees 41 f&feies Mo 6,039 | b="desh
(A2 *IoT ey 77 | if a is not b:print(Cais
noth’)
else:print(anot b))




RTSFBB SetCaBT fog vt Fmee:

>>> a="Bangladesh’

>>>p =12
>>>aisb

False
>>>aisnoth
True
>>>"pangladesh
>>> b="desh

>>>1f a 1s b: print(‘a is b)
else:print("ais not’)

aisnothb

>>> faisnot b:print(Caisnot b’)
else:print (anot b’)

aisnotb
>>>




e weiieBe (Boolean Operators)s I S0 2 (1< N(ATA0S AT
w2l A A {01 30 | 212 e - 2T (True/False) 62 a1 ¢Ft@
Boolean 3t Logical Operator 3 32< <1 27 |

21132t Boolean © 19 =& 136

» True (T must be Capital Letter)

»False (F must be Capital Letter)

AR o~ 6™ AT O (0 I 929 T 27 | T oA e
[ ICRPRRRNCRE DK

> None =i sqeet None &I *w A1<sce, f'T feomee f[eafbe 269
> False wi<e Sqeec+ False I (itet *9r i<ecer, ™ feorieq fqeafoe 20q
> MR T ARCE (@NH- 0, 0.0, 0f) Ar=eee, s f™ fome [eafve 267
>m-mmzn%ﬁw(m 0, []) 9=, o 3= fere [eafbe =@ |
R AT TPR (@ ) ) A, o T e faeaive =)

N T 1 Y T T Sqest e () N e =




o0

>>> 000l(0)
False

>>> pool(4)
True

>>> po0ol(0.0)
False

>>> pool(2.00)
True

>>> phool(-15)
True

>>> phool(0j)
False

>>>bool (())
False

>>> pool ({})
False

>>>bool ([])
False

>>> hool(None)
False

>>> hool(Fasle)




A2 Boolean © 7 @ & bool () Fieid 7729 341 =7 | @%9 — -0 937 Boolean © 7 siwce
513 o141 bool (0), Si@=a Enter SioiteT, #1132t e 3itd Boolean © & &1+ F59¢7 | A2 5
foufs qferia w=cata wiicz | 72413 AND,OR,NOT | AND @3 (I=1% I Fqete toReE_e aq Wi e
T OF GRKLHN0 Mo 2 O A A0 LT 2w | OR @F @@y W FH40F G tolRea<e @3 Wiq
TS B O(F AKLHET e = O A e == T2y | NOT a6 3eaifa st | «ft sfdiaae
(I (SREAT ST GFee= «F e © 1] KB 3eq |

Python Logical Operators

HATEOT Tt S
and (oure) | I g3 weMmEeR ARGGR 2, IFET O *eh ey 77 | (a and b)
Or (s9) T35 AT @R G AT 213 1661 ey 7T | (a or b)

FI-CAEF I, ITS) ACS Sesl not et o firyy (a not b)

g T T I R0 SACACSE @ not et o ey 76w




IR NS g SR fmeeets
>>> 2==2
True
>>> 2 1=2
False
>>> 5>3
False
>>> 5>3
True
>>> 5<=3
False
>> > 5>=3
True
>>> 2==2 and 3==3
True
>>> 2==2 and 3==
False
>>> 2==? or 3==
True
>>> 2==50r 3==
False
>>> 2==h§
False
>>> not 2==5




SAEeT @fres ¢ & et

(Operators Precedence & its Associativity)s

SAItA6 c&Afce™ (Operators Precedence) 3 TG Q@i G4 SAa0d 4 9% 20T
IR (T wereTs (order) fofete Swtabras Siad ol ((FIFBR TS ST, (FIF61F FIey
) 4R I oIt w6 eER @brees (Operators Precedence) e |

e AT @E- @ T R S 9 ¢ o 3 e 7 (onfT @i «9 @@ e 8«3
FACCT ST IF6T SQAF T 0 W0z | (7R (7w (g GSf6 (+Beeta ey A1l
OFEEF AATIGCET F2ACTT TG I | @57 aificesa F9eT S99 [Faea Je fes a5 | @9+-
ZATT JITFO BIET, SIFAT ANST/QHCATTD, o324, @7 8 O QIR (AT A @ fqeawst
& 1 | e, e, o, Sttt I 8 (elieifie @ SR @ fFR TAEET R | @I AR 8
Qe ol fog fog | % ¢

>>> False==False or True

True

>>>False==(False or True)




TAIRA 3 a =20
b =10
c =15
d=0
e = (a+b)*c/d
print (“value of (a+b)*c/d 1s”,e)
e = (a+b) *c)/d
print (“value of (a+b)*c/d 1s,”¢e)
e = (a+b)*(c/d);
print (“value of (a+b)*c/d is,”¢e)
e=a+(b*c)/d;
print (“value of a +(b*c)/d 1s”, ¢)

value of (a+b)*c/d is 90
value of (a+b)*c/d is 90
value of (a+b)*c/d is 90
value of a+(b*c)/d is 50




ARG o N (Operators Assoitivity) ¢ @i agrexi 7w i
AL T RY® T AR QT AAIGRS (TS M TN 27 O Qi F1E T T (A0
@F Z(J 1 AW TF (ATF &F T O (T QMR T WY Nefee = oIt 9ot o Tentiabie
(Operetors Associativity)3eT |
TAIRAA-D 3
The** operator associates right to left : 3**5**2 is 3 **(5**2) as it would be In
math:3"5"2
THIRIA-23 S>> QF*Q**D

16

>SS 2**2**2**2

65536

>SS (2**2**2)**2

256

>SS 3**3**3

7625597484987

>SS (3**3)**3
19683




0 AU TI7e AAREDCRS @IS ¢ o enHRibiel S a1 2= 3

Operators Precedence & Associativity in Python

ey AT Fdfar el
1 () Parentheses T (ATF Tl
2 Hx Exponent T (ACF M
3 +X, =X, ~X Unary plus, Unary minus, Bitwise Not | ©IF (Ut 1
4 * 1,11, % Multiplication,Division,Floor T (AT M
division,Modulus
5 +, - Addition, Subtraction Tl (ACF AT
6 <<, >> Bitwise Shift Operatos T (ACF A
7 & Bitwise AND T (ACF A
8 A Bitwise XOR T (AT AT
9 | Bitwise OR Tl (A TN
10 ==, 1=, >, >= <=,is,is Comparisions, ldentity, Membership | ©IF (¥t qIT
not,in, not in, Operator
Logical NOT TIF (AT I
Logical AND T (ACF T
Logical OR TIF (AT A
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Branching Structure
(J1f2B SHIFEIF)




» HMNITHL GRS ATS =0T, (decision making)/
TS =2 | Wg (ICHICAT (TS ATLBTIG K
eI @WﬂcfﬁSﬂ?ZW(decision making) STz
A9 |

y PCGQIA (PT CHEING ALUVO R 490 *:
» 1. Branching &

» 2. Looping




> %1 Conditional branching Statement:

FONA FEZE  COHOING 1E *1% (condition)
AT JF 1 JFEF statement & FILFT I

condition 37 X(« P (V9 statement(s) A

AT = |5 4G statement(s) FEFT FA|

» ATRYN SIIITS ATLTATS BT 4ATNT FIG*NA
FTRIA CCOBIN® AfgA3Fo THI TUT:

(v) if statement (9) elif statement

- (R)if...else statement (8) nested if statement



2| Unconditional bran

ching Statement: 4«

CPICAT CATHATN AP

ORI BRI (COOIND A

AOII PP TV, O ©IF

Unconditional branch

5.2. if CBBIN®

ing Statement (<7 |

Syntax of if statement

if (condition):
statements



false

Condition/

<

true

l

statement (s)

v

rest of code

Example:

If (hour < 18) .
greeting

= "Good day"



Example-2:

>>> a=a
>>> a
10
>>> jfa < 20:
print(" a is less than 20.")
File “ <stdin>", line 2
print(" a is less than 20.7)

IndentationErrore : expected an indented
black

GG (ATATNG AN FACEA 2N JH(0 I (T AT | 6T
(R indentation error | ATRYTN ANCGTH* TR | ©12
~ ?RW?& (FI1S RNTGTO* I FT XF
e a<1<w 3T (A FI| AF INCGTHA WHIT A2




>>> a=30
>>> pb=10

>>> |f a>b:

print("a is greater than b")

>>> a=30
>>> pb=10
>>> if a>b:
print("a is greater than b")




CAIRAVT-© 8 BAIZAV-8 A7 BIISBAL 5% FAC (WY1 A

(T, TAIZAT-9 47 (HlH PG TOT T fH0 Fa41g
a is greater than b f&® CWIEAY-8 97 CFTH oy

if else CCBBTONifElFaT atRmeng NNty T Wy if
(SBOLN (61 MY else CHOHING FIT© 3|

ST (BT CHEINT =MD G 6 TIT® =T
AIRYH if COHIN® IR (A AT G0 FSNTT

OHd fofe FF 8 COBINT T (PG TR N FACAT 17|
IM FFONNO I JTHE*WID ST0F T O

WSOIGS COLIN T COLINLIYR AN =, W N =
else COBINTHA AFIS! CHOLNG AT CHLINOLIYR

BIQESH




if else statement Syn
if (condition):
statement
else:
statement

flowchart

dlse

If false staterme nts

If true state menits

l

L\\\\\\\

tax:

Example:

If (hour < 18) :

greeting = "Good day";
else :

greeting = "Good evening"



» TSINBIE (Syntax)«:s

if condition:
statements
else:
statements







» ORIRIN-9




ICLIEGR B







Elif statement syntax:
if (condition1):
statement]
elif (condition2):
statement2
elif (condition3):
statement3

else:

I statement



Elif statement
lowchart

€ tutlane.com

False |
True
True

alse
Fal
True
A\

s

O

- =




» Nested if else syntax:

» if (Condition1):
if(Condition?2):
Statement]
else :
Statement?2

else:
if(Condition3):
Statement3
else:
Statement4




Statement 1

Nested if else
Flowchart

True

False

C

W

Statement?2 Statement3

Statementd

To next statement
(If Any)
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CIREAR

(T (PICAT (TSR TIHAG 9 IO @@ [RAY 2 G431 ¥ W g2
PN\G9 dId <ll<1 P A IR LT PGS W’iﬂl <PI®“MIG‘1 G’II\‘:‘(C<P<I ﬂﬁ
WNTON AT =6 27| QAN SNT A2 [IOF Gf43 5T=4FS COorao @
Il d 4I<dId ﬁ'ﬁf N[CATENT PL]|

I 7O LN =Y

+ 0O Y SN |
. <P(.‘:Lﬂ@‘| (.%b(.ﬂ“bl




(b) Exit
Control




ha £ J3

- IO SN2 T
. N PO AN Gl

T2 YA BIO¥NE Ffo2 I CCHBIN® WITH | TATS

.« for CCOLINDI
«  while CCOBING |

for N CEBLAB:

“CNTATY G G A JFNGF CBOEINT IR0 [N AL LTFAF
AfFFTE FHH G5 for o™ IR |

EQL O 1ok 8
Hello
For x in range(3) Hello
print(‘Hell Hello
o’) Good Bye

print(‘Good Bye’)




!

For iterating_var in
sequence:
statement(s)

If Nno more In
sequence

Next item from

SRIFEIAF ST YA WIGIA N 2 SIATNE G for T IR



B a ST for o A7

VI (PICAT T3BC for N I B
2BIIC S 27|

!
E




B2 aq AT for FA g
CICEALGE
ARATN (P PHTF for ™ T2 FK

RO P4 =Y

EQ s K

TIO6YB

00




For I A9 AT range() function 49 II9RIL3

for ™ 9 A range() function (P [IFON ©IR FIRKT FAT 2|
range() function & B2 (516 ATAMNCIT (R | TATS

>> range(start)
>> range(stop)
>> range(step)

TS

>> Start 21 HIRICICHI 2N OiTe |

>> Stop T AT TN AT W A]e

S

>> Step e FNGOIH (SfFIACET 2P0 T O iT6
O] I




While S (SBT3

[%32121cH

Yes

w!||e ‘oop

foas




While loop Q9 SATYTAT TS~ TCHR2

while T <1>|§9‘1?r% TOHY TS MO I, OO IS while
NG 5 | FISA L (A2 (AN AFFO# 17 =T
|

EQ I CH [ [C1Chs R

=




While FTAF ACY if 49 TIZA:

EG ks IO

p—

O (U] 0k O




while sJTAI AT if else 8 elif
A9 IR

EG ks IOF

number =7

guess =0

count=20

print(“Guess the number.”)

while guess != number:

guess = int(input(“Enter th»
Number: ”))

count =count + 1

If guess == number
print (“You are

right.”)
elif guess < number”
print (“It's Bigger.”)
elif guess > number:
print (“It's not so

if count > 3:
rint (“You are

bh

Lo (U0 IO

Guess the number.
Enter the Number: 10
It's not so big.

Good Job

Enter the Number: 15
It's not so big.

Good Job

Enter the Number: 5
It's Bigger.

Good Job




Infinite, Nested F COBINBS

Infinite S CBLBINBS
ARV . T2 YAT INRIND ¥ Al
BIRIREIE
>> infinite for eI CHOINO
>> infinite while
ﬁﬂ(ﬁ@(ﬂ%
Nested Fo CCEBINB?

AR & B2 YT VTG o BT A | A2

>> nested for ]

>> nested while eJ¥

CBEINO




Break, Continue 8 Pass (SbBTNB3

AN PO PRI FAK GNF N PGl CHOHING I 1T 2|
AT o YAV T LRI CCOHLLNL IR P | ILTS

>>Break CGHIN0
>>Continue GCHLHING
>>Pass LN
Break CGOBTNG:
EQ ks Ik Lo (C]10h OH




continue

EQ sk

p—

R (C10h 8




pass CCOBTNBS

range(10 »

p—

O U]k OF




912 COBIIBA TIZF B CATATNS

EX b [OF [ (P10 R
number=int(input("Please, input the Please, input the

number: ")) number: 16
count=1 » 16 x1=16
while count<=10: 16 x 2 =32
print(number, 16 x 3 =48
'X',count,'=",number*count) 16 x4 =64
count+=1 16 x5 =80
16 x 6 = 96
16 x7 =112
16 x 8 =128
16 x9=144
16 x 10 = 160




s CBBINBA TIRNF LA CATATTS

i

29063

num= int(input("Enter a Enter a Number: 2
Number: ")) 2 is a prime number
if num > 1: »
for i in range(2,num): Enter a Number: 10
if(num % 1) == 0: 10 is not a prime
print(num, "is not a number
prime number")
break
else:
print(num,"is a prime
number")
else:

print(num,"is not a prime
mber")




Thank You

p—



%‘%(Iist)

IflEﬁI (Introduction):
NRYTN BQY YA~ 770 2 E‘T?‘PT@TST SRIP O IR [THRTA

(R numeric,sequence,mapping,class,instance. 4<% exception. <

(LT 21 IR (I ©IGI SHIFEIT AR sequence AN

NG A, O 5 I3 I PN W GO A |

ATRYCN A foN 4N (AP sequence BI2 GIGI FERGIS

WIS ITIN:list, tuple, &< xrange object | RN o756 =T ﬂ%




ferst @ faTsBa BAMWIN(Define List and its Elements

Type):
y T8 (list): list RBR ATRATNS HAJCHLT ([ABAHY ©IGI BIRA T HFIF IIPO[ |49 (00F
PR

SR GATATN SR AP F1 T VI ST JF W T T AR OIP

v

IC 9] list g GATRTNRTAT WIS WO JF2 PN ©I6T 512 219 ATAGN (N2 (TAN:
List1 =[physics,chemistry, 1997,2000];

List2=[1,2,3,4,5];

List3=[“a","b","c”,"d"]:

v v Vv Vv

y A6 T AATTOBTE INCOH WA (0,5,2,9......)STGICAT ACH | ZNCGHI N IS
0 (ATH ©F Y| o6 sliced,concatenated 2031 HAT I |

WP B2 GI6I AL (COACHF AN BIR: AR 7069 WK A ITTNS
ERUCIERSESRACI)
HIEANOS BI2 TIoT
B

4
4
4
4




forsB 8 2fBwa Bra e WIbl(list & Integer Type Data) ;%3 ﬁ'@ﬁ
AR C i E G FRERLEOIE St e or Tﬁ

=T >>> print(Numbers)
>>> [5,7,4,6,3,18,1,9]
>>> print (Numbers[5])
>>> 18
>>> print (Numbers[3])
>>> 06
>>> Numbers.sort()
>>> print(Numbers)
>>> [1,3,4,5,6,7,9,18]
>>>

4
4
4
4
4
>
4
4
>
4




fors® 8 (FIfEs TG BrE < WIBT (list& Floating Point Type Data)
: WYATA (IO ATH® BIRA WL ITIZE a8 oo (ofd Far =)

» (NS

» >>> Numbers=[5.4,3.7,10.4,25.6,33.7,7.18,172.34,97.99]
» >>> print (Numbers)

» [5.4,3.7,10.4,25.6,33.7,97.99]

» >>> print (Numbers[3])

» 25.6

» >>> Numbers.sort()

» >>> print (Numbers)

» [3.7,5.4,7.18,10.4,25.6,33.7,97.99,172.34]

Y o>>>




S T PR TR T e s
: er
>>>print(Names[1],Names[0],Names[3])

Rahima Fatima Tahsin
>>>

[0 d ML @156 (List within List) © o067 W45 @

et (ofd Fa1 T

list1=[‘physics’, ‘chemistry’, 1997,2000];
list2=[1,2,3,4,5];
|ist3:[“a”’”b"’”C”,"d"];




ﬁ%} %T%‘W 8 fasB(List &Mixed type
data);4 Tﬁﬁ&%ﬁ@ oA HIE017,99.5]

) >>>print(MyList)

> [“Tanveer;2017,99.5]

3 >>>print(MyList[2]

3 99.5

} W@QNN O} "\‘ll(."l@ °1'a1|\9 31b¢‘1|°‘1\9 %
YR (R 28

3 >Indexing

3 >Negative Indexing

3 >Slicing




4
>
4
4
>
4
4
>
4
4
>

print(my-list[2]
printimy-list[4]
n-list=["Happy’,[2,0,1,5]]
print(n-list[O][1])
print(n-list[1][3])

vV L1 @ O




LI ET-R P

» B=['Mahi;’Mahbub;’Mahfuz;’Samsul;96002,88.87]
» Print(b[0])
Print(b[1])
Print(b[1:5])
Print(b[:5])
OPrint(b[2:])
WNSGAG: Mahi
Mahbub
['Mahbub;’Mahfuz;’Samsul;96002]
[‘Mahi;’Mahbub;’Mahfuz;’Samsul;96002]
[’Mahfuz;’Samsul;:96002,88.87]

>>2>




Append():
Syntax:
List.append(item)
Example:
List =['Mahi’, ‘Mahdee’,’Suhaima;]
List.appent(‘Tahsin’)
Prist(Update list is :’,List)
List2=[Tonny’,’Munny’,’Smaiya’]
Listl.append(List2)
Print(‘Update list is :’,List2)
Output:
Updated list is: ['Mahi’,’Mahdee’,’Suhaima , Tahsin]
Updated list is: [ Tonny,Munny,’Sumaiya’]
Extend():
Listl.extend(listr2)
Syntax:

Listl.extend(list2)
Example:
List1=['Mahi,’Mahdee,' Suhaima’]
List2=["Tonny, Munny,’Sumaiya’]
Listl.extend(List2)
L is(1)



Output
[Mahi, Mahdee,'Suhaima, Tonny, Munny,’'Sumaiya]
2. Insert():
Syntax:
xt:
list.insert(index,element)
Example:
vowel=[a,e’,i’,/u’]
#inserting element to list at 4t position
Vowel.insert(3,’0)
Print (‘Updated List :’,vowel)
List1=[{1,2},[5,6,7]]
X=(3,4)
#inserting x to the list
Listl.insert(1,x)
Print
(‘Updated List :/,list1))
Output: Updated List:[‘a,’e,’i,’0,'u]
Updated List:[{1,2},(3,4),[5,6,7]]




Remove():
Syntax:
List.remove(element)
Example: vowel=['a,’e’,i’,’0’,'u’]
Vowel.remove(‘0’)
Print(Updated List:’,vowel)
Animal=[‘cat,’dog,’dog,’pig,’dog’]
Animal.remove(‘dog’)
Print(‘Updated animal list:,” animal)
Output
Updated List [‘a’,e’,i’,u’]
Updated animal list:['cat’,’dog’,’ pig’,’dog’]
Pop():
Syntax:
List.pop(index)
Example:
Language=['Python’,'Java’,’C++""'C’]
Return_value=Ilanguge.pop(3)
Print(‘Return Value:’,return_value)
Print(Updated List:’,language )
List1=[{1,2},[5,6,7]]
X=(3,4)
#inserting x to the list
Listl.insert(1,x)
Print (‘Updated List ’,list1))
Output: Updated List:['a,’e,’i,’0,’u]
Updated List:[{1,2},(3,4),[5,6,7]]



Index():
Syntax::
List.index(element)
Example:
vowels=['a’,’e’,’i’,/’o’,I','u’]
#element ‘e’is searched
Index = vowels.index(‘e’)
#index is printed
Print(‘The index of e:’,index)
#element 'I' is searched
Index = vowels.index(‘l’)
#only the first index of the element is
printed
Print("The index of i:’, index
Output:
The index of e:l
The index of I: 2




Output:
Return Value: Cobol
Updated List: [Python,’Java,’C++,'C]
Clear():
Syntax:

List.clear()

Example:
List=['Python’,’Java,’C++,'C’]
List.clear()

Print(Updated List:’,list)

Output:

Updated List:[]




Count():
Syntax:
List.count(element)
Example:
Vowels=[‘a’,’e’,’i’,’0’,’I’,u’]
#count element ‘I
Count = vowels.count(‘l’)
#print count
Print (‘The count of i is:’,count)
#count element ‘p’
Count = vowels.count(‘p’)
#print count
Print(“The count of p is:’,count)
Output:
The count of i is:2
The count of p is:0




Sort():
Syntax:
List.sort()
Example:
#vowels list
vowels =['e’,;a’,’'u’,’0’,i]
#sort the vowels
Vowels.sort()
# print vowels
Print(‘'Sorted list:’, vowel s)
Output:
Sorted list:['a’,’e’,’I’,;’0’,'u’]




Reverse()
Syntax:
List.reverse()
Example:
Os= ["Windows’,macOS’, Linux’]
Print(‘Original List:’,0s)
#List Reverse
Os.reverse()
#updated list
Print(‘Updated List:’, os)
Reversed_list = os[::-1]
Print(‘Updated List:,reversed__ list)
For o in reversed(os):
Print(o)




Output:

Original
List:["Windows’,macOS’,) Linux’]

Updated

List:[‘Linux’,/macOS’,Windows’]

Updated
List:["Windows’,macOS’,) Linux’]

Windows
macOS
Linux
The End




